D1vISION WITH A REMAINDER II (H - SET 3)

brvision Name:
Time: Score: y—
1899 + 10 = 16) 32874 =7 =
2 2186 + 10 = 1M 16097 = 2 =
3 3000 + 5 = 18) 32715 +4 =
1) 3931 +5 = 199950 =1 =
5 38127 +4 = 200 11150 + 2 =
6 27603 =7 = 2 H841 + 10 =
N 58563 +9 = 22) 1934 + 10 =
9 5207+ 1= 23) 2021 +5 =
9 16557 +9 = 2) 4489 + 5 =
10) 68574 + 8 = ) 52394 +6 =
1) 7525 + 10 = 26) 6231 +4 =
12) 5362 + 10 = 21 751 +6 =
13) 3576 + 5 = %) 3136 + 2 =
1 3042 +5 = 290 8109 + 1 =
15 19415 +4 = 30) 9356 + 2 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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